ET423

pLUS

OUTDOOR ATTITUDE

SCHEMA DI MONTAGGIO /
ASSEMBLY INSTRUCTIONS /
SCHEMA D'ASSEMBLAGE |
ESQUEMA DE MONTAJE

PLANET TABLE

PLUST Collection
a brand of euro3plast spa - Viale del Lavoro, 45 - 36048 Ponte di Barbarano (VI) - Italy




PLANET TABLE

Elementi / Components | Eléments | Elementos:

el ®>

(A) (B)

6x 14x

Vite M5 x 20 mm Rondelle
M5 x 20 mm screw Washers
Vis M5 x 20 mm Rondelles
Tornillos M5 x 20 mm Arandela

1° STEP/ ETAPE/ FASE

Posizionare il piano capovolto di Planet Table su
una superficie orizzontale.

Turn the Planet Table upside down and place it on
a horizontal surface.

Retourner et poser le plateau de Planet Table sur

une surface horizontale.

Planet Table cm 90x90

Posicionar el tablero volteado de Planet Table
sobre una superficie horizontal.

2° STEP/ ETAPE/ FASE

Posizionare le gambe di Planet Table in corrispon-
denza dei fori liberi. Inserire le rondelle (B) nella vite
(A) come da immagine, quindi avvitare.

Place the legs of Planet Table against the free holes.
Insert the washer (B) in the screw (A) as in the
image, then secure it.

Poser les pieds de Planet Table en regard des trous
libres. Insérez la rondelle (B) dans la vis (A) comme
illustré ci-dessous, apres fermez bien.

Posicionar las patas de Planet Table en
correspondencia de los orificios libres.
Inserte la arandela (B) en el tornillo (A) como se Planet Table cm 90x90
ilustra en la figura, y luego atornille.

3° STEP/ ETAPE/ FASE
Capovolgere il tavolo.

Return the Table to the right way up.
Retourner ensuite la table.

Luego voltear la mesa.

4° STEP/ ETAPE/ FASE

Regolare la stabilita e I'altezza mediante gli
appositi piedini posti sul fondo delle gambe.

Adjust the stability and height by turning the feet
on the bottom of the legs.

Régler la stabilité et la hauteur a I'aide des patins
des pieds.

Ajustar la estabilidad y la altura mediante los pies
situados en la parte inferior de las patas.




